rnysics «4vv HwWO Solutions

D .25 X‘a'—-xar—% %Cl):_i_

Saf&%a«&t vakiafless
X‘A Yt Xy = %(iw}) C,J_:} /+>( Y

ol X

%\&: Ci4£>A% — gd& g( -*{)olx + C

Qn;’);f X + Onx +C

, y
y = e @é”&i - Axe
| X A
!
Twitial condition: (1)=4Ae =1 = A S
! X X -l
% = x o =] X
REEY: '+ 2xy%= O y(2>=1
Ciér _ 2,X3’2 > OUAQ—— _ 2_)(0(\(
chx C Y
J
Sd% _.gzxol)( x(C > ”%:«“XZ“C,
’ jmﬁtqg QOLO( %Cl)'é/-}(‘_ ___(




rnysics 2400 nwo solutions

o )
3 /. , ' .
9' + ZLQ g = X 2 é«‘wz,f‘«t*/ gu«;t orde DD
) = ! LYy 2
PCXB’ZX ) C}(X)-X

|
gP(X) Gbl = é‘ é\/\ ¥ = é‘if\ )( /2
C)/Sp(x) dx _ y 2

(%)cl)( 3 V. R
SC&(K)G/ okx«,g CREVACIN [V

. 3
{ 3 C 5/ __‘/,4
:Wl% o *"Bzﬂ»CX 2[
= 2939\/\)((’(‘%){

S(P () Ay = Fan(x)
Qiny
gt e ey = SQQM e d s =
™ Kiw ¥ Qin () X
:Zgwy.ckeg o Dsaxe LA e el
Sin Y
5y @2 20220 (- ) ‘e
S W - -
-Siuy

% _ Q:Smxv 9 @Sw\xf(%w_j_> + Co

:}2 (omy -4 ) Ce“g“(”’J




